[ Efficiency vs vertpos |

L
- B E
Efficiend g% TESIQF

0

o

©
3

efficiency vs vert z
o o
[6)] [e)]

o
D
I

o
[
I

o
N

©
i

(]

Ratio
=
Ul

30 =20 -10 =0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 05 - " T T T T
> : : : : : : :
L S St e
500 O O S
%0 T
190 1 AN U U
3 : : : : : : :
O e S A S
[} . . . . . .
0.2 A (H RN P reves g P
PSSO A1 S W T 1

0.3 1 : ---- ‘+" ----- , .....
0,081 - 47HPhgb ii + ______ o

0 . .”.i..nl....:...h...i”..

Sim

iency

o 7 ; :
g AL
X 1.5 Tl beeee
:;: - l;!l— - -;- -----
-20 5 10 5 20

Sim. PV z (cm)



	Contents
	Page 1


